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Function XYZ(ByVal n)
If n=1Then
XYZ =1
Else
XYZ =n* XYZ(n-1)
End If
End Function
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Function TOTALTAX(ByVal INCOME)
IF (INCOME <370000) THEN
TOTALTAX = INCOME * 0.6
ELSE IF (INCOME <990000) THEN
TOTALTAX = INCOME *0.13 -25900
ELSE
TOTALTAX = INCOME * 0.21-105100
END IF
END IF
End Function
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Sub score()
Dim |, J As Integer
Sheets(“sheet1”).Select
Forl=41t013
scorel = InputBox(“#+ % :” + Range(“B”&l).Value, “#iy A\ F 85 i 457, )
=“"Then end
Range(“C”&l).Value=score1
Next

End Sub
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Public Sub HitTotal()
Dim total As Integer, index As Integer
index =5
total =0
Do
total =Cells(index, 4).Value + total
index = index +1
Loop Until index >10
Cells(index, 4).Value = total
End Sub
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